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Page Correction

154  Final Paragraph of Example 5.3 has several errors. It should read “constant at | =
8” and “must rise to E = 4(2)+4(2) = 16”.

160  Point 2 should read € -

y

285  Part c of Problem 8.4 should read “fell from 10”.

o°C

355  Equation (iv) should read :
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356  There is a missing In in front of C(...) in equation (vi)

384  In moving from part c to part d of Problem 11.11, two minus signs were omitted.
Both of the first terms on the right of the offset equations in part d should have
minus signs.

719  Partd for 17.9 should read: Results are similar to a lower growth rate — the
required real interest rate is lower.



